SH3FESA3I BRI

B 3 FEISRISIRFRRARING

SERIAR
2R SRiER| SHRBIAEY
158 2% 35 45 5% 6
CIIN- 1 1 1 3
B89 - 1518 1 1 2
B E—INER = 58 1 1
] GE] 1 1
BAREH 1 1
LI 1 3 5 1 10
BB TINER B89 - 1518 2 2 3 2 1 10
BAREH 1 1
LI 1 2 2 1 2 8
@) B INER B89 - 1518 1 1 1 3
= 58 1 1
LI 1 1 1 3
FNER
B89 - 1518 1 1 1 3
%0 By 1 1
STERZINERE B89 - 1518 1 1
= 58 1 1
CII- 1 2 1 3 3 10
B89 - 1518 1 1 1 2 4 9
RINFER ———
E = 1 1
AR EH 1 1 2
&t 6 8 11 18 19 12 74
SERIAR
2R SiRiER| SHRBUAEL
158 2% 35
CII- 3 2 5
STIEhERL B89 - 1518 2 2
] GE] 1 1
CII- 1 1 2 4
B89 - 1518 2 1 1 4
BASEPERL ———
= 58 2 2
AR EH 1 1
%0 By 2 2
ESFiclanl=2yin B89 - 1518 1 1 1 3
GE] ] 1 1
%0 By 1 1
STENZ SRR
B89 - 1518 1
&5t 12 6 9 27




